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Appendix  A

The Tests

 Reading Comprehension Tests

The Stingy and the Generous


Long time ago, there lived two brothers. They had completely different characters. The big brother was very stingy and greedy. He never shared his wealth, to poor people. The little brother was exactly the opposite. He was generous and kind to poor people. He even had no money left because he had shared it with the poor.


One day , the generous brother was sitting in his garden when suddenly a little bird fell on his lap. It was wounded. He took acre of it, fed it and out it in the cage. After the bird was healthy, the generous brother let it fly. After some time, the bird returned to him and gave him a watermelon seed.


The generous brother, then, planted the seed and watered until it grew into a good watermelon plant. Yet, the plant was very strange. It had only one fruit, a big and heavy one. When the watermelon was ripe enough, the generous brother cut into two. How surprised he was. The watermelon was full or gold.


The generous brother sold the gold and became very rich. He built a big house and bought a very large field. Still, he never forgot to share his wealth with the poor.

01. How was the big brother?

He was ……

a. generous

b. like to help the poor

c. kind-hearted

d. greedy

02. What happened to the little bird?

a. it wounded

b. it was fine

c. it could fly high

d. it was healthy

03. What did the little brother do to the bird after it was healthy?

a. he kept it in the cage

b. he cooked it

c. he let it fly

d. he cut it

04. What did the bird give in return?

a. A golden egg

b. A young bird

c. A little diamond

d. A watermelon seed

05. What is the main idea of the bird paragraph?

a. The little brother planted the seed

b. The two brothers had different characteristic

c. The bird was ill

d. The little brother helped the poor

06. Yet, the plant was very strange. (Paragraph 2 line 3)

The underlined word means….

a. Good

b. Odd

c. New

d. Beautiful

07. Leny
: Please stay for a while

Susan
: I am sorry, I don’t have …. Time! Have to go now.

a. Many

b. Little

c. Few

d. Much

08. Cakra
: Last semester, Dony … a holiday in Perth.

Jihan
: Really?

a. go 

b. is going

c. went

d. goes

09. Ulin
: Where were the boys?

Kiky
: When I passed the field, they … in the hall

a. were staying

b. are staying 

c. stay

d. to stay

010. Susan : Do you have any candies?

Kiky
: I have … in the can

a. No

b. None

c. Some

d. Nothing

Life without Television


Television has certainly changed our life. People have stopped going to the cinema and started eating off their laps without it perfectly true, nobody would have paid every much attention to Vietnam and Biafra. Television proved that pictures of suffering can move a nation to pity but not that they would therefore have better understanding of the political problem involved.

Yet would indeed miss television, for a start there’d be that large gap in people’s lives left the hours of broadcasting that they wouldn’t be listening to or watching. On average, twenty-three percent of people’s leisure time taken up with watching television  at thirty two hours a week, for more than another single activity.


What would happen if that amount of time suddenly become available for other activities. Would substitute be reading (now only about seven percent of people’s time) or would there a great revival of the local performance as a thousands of people who now cat, sing, produce, etc. on television sought an outlet for their talents on local stage?

011. Television proved that picture of suffering very much attention to … (paragraph 1)

The word suffering means:

a. Feeling of expressing

b. Experience something unpleasant

c. Satisfaction

d. Experience enjoyment.

012. …. .for a start there’d be that large gap in peoples lives the hours of broadcasting that they wouldn’t be listening to or watching. (paragraph 2)

The word broadcasting means:

a. Operate

b. Bring into use again

c. Sharing information

d. Sent out something by TV or radio

013. On average, twenty three percent of peoples leisure time taker up with watching television at thirty two hours a week, for more than any other single activity (paragraph 2)

The word leisure means:

a. Free time

b. Waste time

c. Short time

d. On   time

014. …..or would there a great revival of the local performance as a thousands of people who now act, sing, produce etc. (paragraph 3)

The word leisure means:

a. A mount of time

b. Give a new life

c. Bring into use again

d. Consider or examination

015. On television sought an outlet for their talents on local stages (paragraph 3)

The word talent means:

a. Natural manner

b. Opportunities to do something

c. Natural ability to do something

d. An interesting performance.






Telex


Telex is a telegraph exchange service that enables subscribes to communicate directly with one another by means of teleprinters temporarily connected by lines and switching equipment. Telex, which started on a national basis in Europe in the early 1930s, become an International Service by the mind 1930s,. it expended rapidly, mainly after World War II, and is now available in almost every country in the world.


Telex service is analogous to public telephone service except that machine printed messages replace speech. The printed record makes. Telex particularly useful in the business word which requires the authority of the written word. Another advantages is that a call can be made and message can be left at an attended machine which is very useful where there are time differences.


The teletypewriter, which has a typewriter like key boars, produces electrical signals that are transmitted to a the electrical signals, transmitted to it. message are sent in a 5 unit code at 67 words per minute. Call can be made automatically, semi automatically, or manually. In automatic calling, no operate is required at the district of origin. In manual calling, an operator is required at the district of destination.

016. ….is a person who operates telegraphs and telephone

a. operator

b. typist

c. typewriter

d. authority

017. Telex is a telegraph exchange service that enables subscribes to…. (paragraph 1)

The word telegraph means:

a. transmitting the human voice by the electric current

b. sending message by an operator at the sending end

c. making distant objects appear near and send large

d. sending message by the use electric current.

018. …..is an electronic which prints out message that it receives from a machine in other places.

a. The printed record

b. Facsimile

c. Tele-printer

d. Telephone

019. It expended rapidly, mainly after word war II, and is now available in almost very country in the words (paragraph I)

The word expend means:

a. become a greater in number

b. available

c. become useful in the business world

d. become shorter in time

020. ….another advantages is that a call can be made and a message can be left at …. (paragraph 2).

a. Piece of information that you leave somewhere for someone when you can not speak to him directly.

b. The printed record

c. The authority of the written words

d. News service



The Compulsory Education and the Foster Parents


The preamble of the constitution says that one of the government duties to advance the prosperity of the people and to educate all Indonesian people. The educational responsibility is not only in the hand of government but also in the hand of the people. They are responsible for the advance of the education.


All children until the age of fifteen must go to school. The government elementary school dischange the pupil from the school fee still not all children can go to school. The children need many things. They need book, school uniforms; shoes, etc. it’s impossible for the government to provide all those things free or change for all children.


But the government always try to overcome the problem. To solve the obstruction, the government found a social association. The aim of it is to help the poor children pay their school fee. The name of association of faster parents. The association gathers. Funds and use it for supporting them as we know as scholarship. The foster parents can help the expense for a year, two year, or longer. According to contract every foster parent has to spare Rp 60. 000 a year or Rp. 5000 every month. The foster parents needs live with the children. They do not know who they help. The children still live with their own parents. With the establishment of the association and its scholarship, the government hopes that all children can go to school and get their education for their future.

021. The preamble of the constitution says that one of the government duties is to advance the prosperity of the people and … (paragraph 1)

The word advance means:

a. being get up

b. make ready

c. go forward

d. become better

022. The government elementary school dischange the pupil from the school fee (paragraph 2)

The word dischange means:

a. Sens away / free

b. Pay

c. Saving money

d. Help

023. The name of association is the association of foster parents (paragraph 3 )

The word foster parent means:

a. poor parents

b. people who educated someone

c. parents who take care of their children

d. parents who take carte of other children

024. The association gathers fund and use it for supporting them as we know as scholarship (paragrap 3)

The word scholarship means:

a. provide with money

b. sum of money

c. expense

d. payment of money to student.

025. But the government always try to overcome the problem (paragraph 3).

The word overcome means:

a. get the better

b. behave to ward

c. look after

d. look for






Family Planning


According the latest information, it is estimated that there are about six or seven billion people in the world. Most of then in under developed countries. Population is increasing at a faster yearly rate in Asia, Africa and Latin America then in other continents. The two most populated countries in the world are China and Indonesia also belong to the densely populated country.


Population size is controlled by the birth rate and the death rate. Centuries ago most children did not live very long. They died at birth, as babies, or as young children. Death rate at birth was high. Disease epidemics killed as well as adults. The death rate was high and the birth rate was low. Population growth was limited.


Limiting factors in the pasar, such as disease and death at birth, have been charged by modern technology. Today, antibiotics, vaccinations, and improved sanitation help control the spread of disease. With modern health care, power people die young and most children live to reproduce. As a result of these changes, the death rate has decreased and the survival of new born has increased. The lower death rate and the higher birth rate have caused the human population to increase rapidly.


Indonesia as well as other densely populated countries, China, India, attempts to reduce the birth rate. The government in those countries are working hard to make sure their people that by having a small family they will promote prosperous country. The government of India encourages married men and women to be sterilized so they cannot have more children. In China families can be punished for having more than one children.


In about 1980 Indonesia has about 165 million people, now it is estimated 200 million people. It shows us that population may soon outstrip the available food supply in this country. If the number of people continue to increase there will not be enough food, houses, or jobs for the people. And so this leads to crime, further poverty and poor living condition in the country. 


It is the duty of the teacher, doctors, social workers to explain to people why they should have fewer children by using birth control method such as contraception, the vasectomy, use of condom, IUD’s, pills and sterilization, and especially for the teenagers they persuade them to postpone their marriage until at least the age of 23 for women and 26 for men.

026. …is a number of people living in a place country

a. death rate

b. birth rate

c. population

d. sanitation

027. ….is state of continuing a live or exist

a. survey

b. reproduce

c. surrounding

d. survival

28.. ..The government of India encourages married men and women to be sterilized so they cannot have more children (paragraph 4).


The word encourage means:

a. give confidence to support

b. give some estimation

c. give explanation

d. make or become better

29.  The government in those countries are working hard to they will promote prosperous country (paragraph 4)


The word prosperous means:

a. unfortunate

b. successful

c. poor living

d. bad fortune

30. ….., and especially for the teenagers they persuade them to postpone. Their marriage until at least the age 23 for women and 26 for men (paragraph 4)


The word postpone means:

a. delay

b. reduce

c. increase

d. give care
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The Keys

01. A



02. D
03. C



04. D
05. B



06. A
07.  A                                
08. B
09. A



10. C
11. A



12. D

13. A



14. C

15. C



16. A

17. D



18. C

19.A



20. A

21.C



22. A

23. D



24. D

25. A



26. C

27. D



28. A

29. B



30. A
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